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T2825/T0499 COMPUTER NETWORKS
T E-Sem ¥ Com pmccscs) Ly
Q.P. Code ; 581301;“"\._

(3 Hours ) _ _j"’_[iI‘ota] Marks

(1) Question No.1 is compulsory. _ . :
(2) Attempt any Three questions out of 1emammg questions
(3) Make suitable assumptions whenevet: necesaary :

Enumerate the main responsibilities of the data link layer.

What are the different guided and ung,ulded trangmlsswn medla‘7
Explain with examples the classxﬁcatlon of IPV4 dddresses ;
Compare and contrast a circuit switchin g and a packet qwnchmg network.

Consider a message represented by the polynomial M(x) = x* + x* + x,
Consider a generating polynomial G(x) =x° +x* + 1 (1101). Generate a 3
bit CRC and show what wﬂl be the trammllted tlame How 15 01101 detected
by CRC? . S 3 ;
What is ISO-OSI leference model‘? Lompare 1t w:th TCP/LP refel ence model.
Which layer is used for the following :

(i) to route packets

(i) to convert packets to frame. = =

(i) to detect and correct errors F
(iv) to run services like FTP, Telnet etc.

Explain Distance Vector Routing. What are its limitations and how are they
overcome?

What are Congestion Prevention Policies? Explain Congestion control in

Vitiual Circuit and Datagram Subnets

With the help of suitable example explain sliding window protocol with
selective reject. Compare its performance to sliding window with Go-back-n

_techmque

_ release

Explam w1t11 the help of suitable diagram TCP connection management and
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5. (a) Explain 1-persistent, p-persi
weak points of each.

(b) Whatis subnetting? Given t
mask 255.255.255.192 to create subne:ts andanswel th

(i) What is the number of subnets:C

(i) How many hosts per subne;‘? =
(ifi) Calculate the TP address of thgﬁrst 'host the'-lasbhost and‘the broadm&t

address of each subnct_

he class C netwark 192' 16_& 1_0 G use the subnet 1!]
e_fellowmg

:,\._'\\ - ;\

R Na

6. Write a short notes on thc followng"(‘anvtwca) & 20
() SNMP and MIB O S
(i) Bluetooth Archttecturc > O EFHITLR

(iii) Border Gateway Protocol
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(2) Answer any four questions from Q.

G)

N.B.: (1) Question No.1 is compulsory.

~

1. (a) Whatis memory segmentation? Stat

9
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(b) What is GDT? Explain s

(¢c) Explain integer pipeline o
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Code :581201

1 message

Hemant Vasaikar <vasaikarhb@spit.ac.in>
To: exam@spit.ac.in

plfa

Forwarded message ———-—-

From: University of Mumbai <support@muapps.in>

Date: Tue, May 23, 2017 at 3:54 PM

Subject: Correction in Program Code: T2825 Subject Name:MICROPROCESSOR Q.P Code :581201
To: vasaikarhb@spit.ac.in

Correction in Program Code:T2825 Subject Name:MICROPROCESSOR Q.P Code :581201

Read As
Total Marks 80
N.B :(2) Answer any Three questions from Q.No.2 to Q.No.6.

University of Mumbai
https://muapps.in
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022-26534263 | 022-26534266
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